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Answer:

a andb=7ft

Answer:

1) 2) 8,-2 3)  What would you multiply by to
Find Volume of increase an amount by 97%?
Triangular Pyramid
Answer: Answer: Answer:
4) Find perimeter of 5) 6) 3%, + 4%,
b rectangle having
sidesa=9ft
a and b=3ft ‘Name the type of angle.
Answer: Answer: Answer:
7)  Round 9.579443 to the nearest 100 8) 3x10 9) 3x10
Answer: Answer: Answer:
10) Find perimeter of 11) Convert thefollowing fractioninto a 12) 2+10
sguare having each mixed number: 6/5
s side(s) equals3m
s
Answer: Answer: Answer:
13) 14) Find perimeter of 15) Convert the following mixed number
Find Volume of b rectangle having 54/5 into an improper fraction.
Pentagonal Pyramid sidesa= 10 ft

Answer:
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16) Solve by factorising 17) $206.00 earning 1% compound 18) 3+ (-6)
f2-2f-8=0 interest for 8 years.

Answer: Answer: Answer:

19) 0% 4, 20) Find perimeter of 21) Find perimeter of
b rectangle having b rectangle having
sidesa=10in sidesa=10in
a andb=9in a andb=9in

Answer: Answer: Answer:

22) Find perimeter of 23) 10x (-10) 24) 10 x (-10)
b rectangle having
sidesa=10in
a andb=9in

Answer: Answer: Answer:
25) 10 x (-10) 26) 3+9 27) 2+5

Answer: Answer: Answer:

28) (-80) =+ (-8) 29)  Findthe median of thefollowing set of detex 30) A number was shared in the ratio
19, 32,17 4:3. The smaller share was 6. What
was the larger amount?
Answer: Answer: Answer:
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31) (-6) + (0) 32) 4%, x 1% 33) 4%, x 1%,
Answer: Answer: Answer:
34) Find perimeter of 35) Find perimeter of 36) Round 21.16591446 to the nearest
sguare having each square having each 1000
s side (s) equals4 m s side (s) equals4 m
s s
Answer: Answer: Answer:
37) 0x 10 38) Find area of 39) 2%+ 3l
b rectangle having
sidesa=9cm
a andb=4cm
Answer: Answer: Answer:
40) Find area of square
having each side (s)
s equals 10 m
s
Answer:
Total: /40
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1) 30
8) 30

15) 29
22) 38in
29) 32

36) 21.166

2) 2%,

9) 30
16)f=4o0r-2
23)

30)8

370

3)1.97
10) 12m
17) $223.07
24)

31) -6

38) 36cm
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4) 24ft
11) 1Y
18)-3
25)

32) 8%/,
39) 5%/

Answers:

5) Straight
12) 12

19) 2

26) 12
33) 8%/,
40) 100m

MERATOR

6) 75/92

13) 185.81155926361
20) 38in

277

34) 16m
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7)9.58
14) 34t
21) 38in
28) 10
35) 16m
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